AMAT 219

Integrals

1. { cot(x) dix = Insin(x)| + C

2, j sec(x) dx = In|sec(x) -+ tan(x)| + C
3. [ ese(x) dv = Inese(x) - cot(x)| + C
4. [ sec’(x) dx = tan(x) + C

5. jcsci(x) dx = —cot(x) + C

5 j sec(x) tan(x) dx = sec(x) + C

T Icsc(x) cot(x) dx = —cse(x) + C

1 p—
8. dx = arcsin(x) + C
I fl _xl
9. I L = arctan(x) + C
x2 41

10. I dx = arcsec(x) + C

X ’L =
Basic Trigonometric Identities

(i) cos?(0) +sin?(0) = 1 (i) 1 + tan%(0) = sec?(0) (iii) cot?(0) +1 = csc?(0)
(i) sin(20) = 2 sin(G) cos(8) (i) cos(28) = 20032(9) —1=1-2sin*(0)
(iii) cos?(8) = [1 +cos(260)]  (iv) sin(0) = [1 — c0s(26)]
Approximations to j' Ax)dx
Trapezoid Rule: T, = h(5Ax0) +/Tx1) + ... + flxn1) + 3/0x0))

Midpoint Rule: M, = (3" flmx))
k=1

Simpson’s Rule: S, = A/3[flxo) + fxn) + 4 fx) +2 Ax)]

where h = (b —a)ln = |xp — xp-1]



